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NOTES

CALCULUS

Write your
questions here!

Y

Sine and Cosine

f(x) =sinx
1“S:':-.CD |
2y = /
'Y| =0 {'::o

The derivative of trig functions

f(x) =cosx

diy sin(x)= ¢ o< (X

d
dy

d e
d—ytan(x\— Sec™ (X)

d
d—ycscéﬂ= - csC (Rt
—cos\= — Siw(x) )= Sec (s +anlx)

Gl= - cscCx)

The “co’s” are always negative and friends!

Find the derivative of the following.
f(x) =sinx +tanx

$'td= cosl + Sec” (x)

y = cos(3x)
y'= sin(an) - (Y

\1'2 -3 s.--\('$k3

y = 3xcot (x?)

& | s o
. 3 ot 6)+ (3 [est )
= (@) ot () + (3 (- es ) ()
= ek i) - Bx)esct ) 2%

= et () - box s ()

f(x) = sin® (4%) = [Sinlud\*
&= 2 {Si n['-lx)}l - fS'ln l“lgx’

= 2Osiwn(dx) - ces (4v) @yx),
— D sinlux)-cosldx)-
§=  sinalw) cosux)
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Evaluate the derivative at the given point. | L:‘?l

1 Y
-1 C =
S; (8) = [Eo-t [aﬁ * QCJB: )
—3/ , - \
tley="z [C"’f[e"x " [eot () 2 )

-
Ff— (- ¢sc (é§) .~ ©
)=

. csc (o)
(1:(6) B 2 \| Co‘\"sé

Find the equation for the line that is tangent and normal to

y=secx atx =1

Poiat (7))  Slepe fangT Slepe Notwal Fangmt line Notmal ling
N =Sec/m v '= Sec(Wnlx) Lwn=und

y=-l x=1r
y= | y' = eel®ialr)  (verkicl )
y' = 1) (o)
N} = ®)
BRING THE PAIN!
_ 2x
Y= csc(x? + m)
' (:’xy I_-CSC(X’V- ﬁ'ﬂ "(DA [( s¢ (x'«-ﬂ
[CSC(){‘-HT’SY'
o - ese (M) — 2% [-cselxteneat (0] ren)
) CsC(x )
2csc szf ) + 2x €sc (X" +™) ot [x’-frh) (2%)
cSC(<X+M)
SUMMARY:
Now, ! = 2csc G{‘f ) + L{x';csi ("1)"‘"‘500“' (x -H'l‘)
summarize csc (7& o7
your notes :>
here!




